J1y4, MNeHb, €, NMATb, KOM, TEHDb,
HO



Y4uyeHue — nyTb
K YMEHHUIO




YMHOKEeHHue
B CJIy4asx BH/A

50-9mu200-4

LleJan ypoka:
3aKpEIUTH YMCHUS

pelaTh BBIPAKEHUA BUIA

50-9u200-4




_|3anuwuTte pesynbraTbl 4ENCTBUMN.
/-100= 700 10-100= 1000
6-100= 600 100-8= 800
1-100= 100 100-2= 200




BbIpa3u B KOIICHKaX.

3p.=3-100 (x.)=[3]0]0]k.
9p.=1[9]-[1]0/0](k.) =[9]0]0 K.
Sp. 13k.=5-100 (x.)+ 13 k. =[5]13]Kk.
3 p. 2 K. =[g8]0]2 K.




JlomarliHee 3agaHue:
c. 40, Nel5, Nel7 (3,4), c.41, No22,

No24. ¢c. 42, No 25, No30.




[TonOepute BhIpaKCHHUE,
COOTBETCTBYIOILICE BAILIEMY BOCIPUSITHIO
ypOKa: XJIonaa yIIaMH, CJIbIIIAaI Kpaecm
yxa, padoTaja yCepaHo.
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